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Exam A

QUESTION 1
Refer to the exhibit.

rata rn__val-
{
Talartldr: 643451 TI6TEEET2E1EY,
*alertType”: “appliances went down®,
*devicaMac”: *al:55:3d:6c:ol:Ta",
“elgv i caNamo: - YMEES. ol Tar,
“deviceSerial®  “QI0N-SBER-IOOOLY
sdovieaUrl . “hitps  //nld3 merakl  acs/Branch-1/n/2 . fmanage/modes fnew wired status™,
e tworkTds: L.Hl? I456TBH0D,
“natworkName ™ “Branch 17,
“networkUrl™: “hitps:// nldd.merakl [com/Branch=1/n/. . /manage/nodes/wired statos™,
“gocuredat”: *2018-11-X0T168:45: 20, 0000002,
*organizationId”; “1234567;
"organizationMame”: Y“Maraki  Damo®
sgrganizationtel™: “httpe: [ Mldd merakl .comfo/S . i manage/organizationfovacview”,
“sentAt: *2018-11-10718:50:30.479580x",
“SharedSecret™: “asdf1F34~
wyraraion™: "0.1"

)
The task is to create a Python script to display an alert message when a Meraki MX Security Appliance goes down. The exhibit shows sample data that is received. Which Python snippet displays the
device name and the time at which the switch went down?

A. with return val:
print (“The Switch: “+deviceName+ “,
went down at: “+occurredAt) ‘

B. print(“The Switch: “+return val.deviceName+ “, \
went down at: “+return val.occurredAt)

C. print(“The Switch: “+return val[‘deviceName’]+ ™, \
went down at: “+return wval[‘occurredAt’]”)

D. with items as return val:
print (“The Switch: “+items.deviceName+ ™,
went down at: “+items.occurredAt)

Option A
Option B
Option C
Option D

o0 ® >

Correct Answer: C
Section:

QUESTION 2
Refer to the exhibit.
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“alertDatar: |
gountMode™: 1,
whsalds:
Sad tbb ooy dd i ee s f L7,
et B Bt R TSR
b
sminFiralioen” . 1548510304,
“maxLastSaan®; 1548512802
oo tlsContaineds 0,
“reason® “Seen on LAY,
*wiredMac®: aatbboaidd:es: £0%
i
"Hlactlc® o mEIIATEOLTIIGIAT A0,
FalaTiTypa™ i *Alr Marshal -Rogqua AP deboobed®
SaoccuredAtT:  BI0L0-01 -36P1d 18 B4 O00DODE,
*prganizationiay: LIGEY,
forganizationiame” “Organlzation®;
“opganizationUel®: “hittps://nl . seraki comfof. . . fmanage/ocganizat ionfovecview”,
Tnetwarkide L PEIABETRI0] 2I456TEY
T bworkName ™ "Nelwork=.
*metworkUrl®: “https:/ nl . merakl . oom/ . .o fmanagoe/ medes I ist?;
mppEsion® w0 0N
“gharedisgrat~: “suparsecret”
THRaAL CEOLF-0L 26714 135 30 44266627,

i
The goal is to write a Python script to automatically send a message to an external messaging application when a rogue AP is detected on the network. The message should include the broadcast SSID
that is in the alert. A function called

“send to application” is created, and this is the declaration:

send to application(message)

The exhibit also shows the data that is received by the application and stored in the variable return val. Which Python code completes the task?

A bssids =return_wval [“bssids*]
for number in range(ceturn val[“alertData”] [“ecountNode"]) :
send to application l“AI.ERT: detected a bssid on the
natwork: "+ return val[“alertData"] [bssids] [numbacr])

B bssids =return val[“bssids®]
for valus in bssids:
sand to application (“ALERT: detected a bssid on the
natwork: “+valuea)

C. count = retutn val([“alertData”] [“countNoda™]
bssids =return val [“alertData”) [count] [“bssids™)
for value in bssids:
send to application (“ALERT: detected a bssid on the
network: “+value)

0 hbssids =return_val [*alertData”] [“bssids"]
for value in bssids:
send to application (“ALERT: detected a bssid on the
network: “+value)

Option A
Option B
Option C
Option D

o0 ® >

Correct Answer: D

Section:

Explanation:

For number in range value is required for the application to send the alert. Bssids are also included.

QUESTION 3

Which two features are foundations of a software-defined network instead of a traditional network?
(Choose two.)

A. control plane and data plane are tightly coupled
B. build upon a robust software stack
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C. requires device by device-level configurations
D. automated through expressed intent to a software controller
E. requires significant physical hardware resources

Correct Answer: B, D
Section:
Explanation:

In traditional networks, control plane and data plane are coupled tightly. It also requires device by device configurations and of course, it uses physical hardware resources to function. Whereas, SDN is based on a software

stack. In Cisco
SDNs are automated through expressed intent to a software controller.

QUESTION 4
A new project called “device_status” must be stored in a central Git repository called “device status” with the first file named “device status.py”. The Git repository is created using the account python programmer. Which set

of commands inserts the project into Git?

A git init
git add device status.py
git commit -m “Initial Revision”
git remote add origin \
https://git.ciscc.com/python programmer/device status.git
git push -u origin master

B. git init
git remote add origin
https://git.cisco.com/python programmer/device status.git
git add device status.py
git pull
C. git init
git remote add origin \
https://git.cisco.com/python programmer/device status.git
git add device status.py
git commit -m “Initial Revision"
git pull -u origin master

D. git init
git add device status.py
git remote add python programmer/device status
git puash

Option A
Option B
Option C
Option D

o0 ®

Correct Answer: A

Section:

Explanation:

Reference: https://help.github.com/en/github/importing-your-projects-to-github/adding-anexisting-project-to- github-using-the-command-line

QUESTION 5
What are two characteristics of synchronous calls to APIs? (Choose two.)
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They can be used only with certain programming languages.
They make your application less portable, so asynchronous calls are preferred.
They can add perceived latency to your application if data is not received.

They block until a response is returned from the servers.

m o0 w >

They do not block while waiting for the API to be processed.

Correct Answer: C,D
Section:

Explanation:
Reference: https://docs.cloudmgmt.cisco.com/display/40API/Synchronous+and+Asynchronous+APIs

QUESTION 6
Refer to the exhibit.

neighbors = [‘'sl’, ‘s2’, ‘s3’]
switch = {‘hostname’ :"'nexus’ ,’os’:’'7.0.3’,"'neighbors’ :neighbors)
print (switch|[ ‘neighbors’ ] [1])

What is the result when running the Python scripts?

sl
s2
sl,s2,s3
s3

o 0N >

Correct Answer: B
Section:
Explanation:
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1 neighbors 1 'SX5 "8G ‘83%))
Z switch = {"hostname”’:'nexus’,'0s"':'7.0.3", " neilghbors’ :neighbors
3 print(switch['neighbors’ J[1])

3174 w in

CommandLine Arguments

Result
CPU Time: 0.02 sec(s), Memory: 7604 kilobyte(s)

sz

QUESTION 7
Refer to the exhibit.

“"Cisco-I0S-XR-1ifmgr-cfyg: interface-configurations™: |
“interface-configuration™: [

{
“active®: “aot”,
“interface-name” : “LoopbackO?,
“dEEcripticn”: “PRIMARY ROUTER LOOPBRACK™
}

]
)

Which type of YANG container is described by the JSON instance provided?

interface-configurations
active

interface-name

OO0 >

description

Correct Answer: A
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Section:

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr9000/software/asr9k-r7-0/programmability/ configuration/guide/b-programmability-cg-asr9000-70x/b-programmability-cgasr9000-
70x_chapter 011.html

QUESTION 8
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Refer to the exhibit.

U*dumps
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module: Cisco-I0S-XE-vlian-opar
+=-=-p0 vlans
+=--ro vlian®* [id]

+==po 1d uintls
*+==TQ hnama? string

+=-=ro status? vian-iso-xe-oper:vlian-status-typae

+==ro ports* []

| #=--ro intarface? string

| #=-ro subinterface? uintl2

+==ro vian-interfaces* [interfaca]
+==ra intarface string
+==ro sublntarfaca uint3i2

dumps
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Which NETCONF protocol operation is used to interact with the YANG model?

<edit-config>
<get>

<get-config>

OO0 >

<copy-config>

Correct Answer: B

Section:

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/routers/crs/software/crs-r6-4/programmability/configuration/ guide/b-programmability-cg-crs-64x.pdf

QUESTION 9
Refer to the exhibit.

<rop omlns="urn:ietf:params;xml:ns:netcont base:l.0" message-1id="101">
Gt
<filtar>
<native xmlns=*http:ffolsco.com/nsfyang/Clsco-I0E-XE-native™>
1:||.1‘_1\-:h
<zarver xmlns="http:/f/olsco.comfnsfyang/Clesco-T08-XE-ntp™>
<sarvear-list>
<ip-addrass>10.11.10. 65</ip-addrass>
Lfservar-1isty
CEGTVST
< intp>
Lfnativas
<ntp-opar-data K."llrm-"ht.l.[.h.'f,u"::k:r_'\o-.W"l,.f'n:f'r.lnu,u"(:luc-u-I.-‘.HG KE-ntp=-opar®»
fntp-status-info>
“ntp-assooiations>
Cpaar-stratim/>
<fntp-assoolationss
L/ntp-status=-infol
</ntp-opar-datak
L£/filtary
Ll gats
< frop>

How many YANG models does the NETCONF <get> operation interact with?

one
two

three

o0 ® >

four
Correct Answer: B
Section:

Explanation:

The get operation tag is at the beginning of the document. It interacted only with NTP and its related services. There get operation interacted only with one model.

QUESTION 10

IT Certification Exams - Questions & Answers | Vdumps.com


https://www.cisco.com/c/en/us/td/docs/routers/crs/software/crs-r6-4/programmability/configuration/
https://www.cisco.com/c/en/us/td/docs/routers/crs/software/crs-r6-4/programmability/configuration/
https://www.cisco.com/c/en/us/td/docs/routers/crs/software/crs-r6-4/programmability/configuration/
https://www.cisco.com/c/en/us/td/docs/routers/crs/software/crs-r6-4/programmability/configuration/
https://www.cisco.com/c/en/us/td/docs/routers/crs/software/crs-r6-4/programmability/configuration/
https://vdumps.com

Which statement describe the difference between OpenConfig and native YANG data models?

Native models are designed to be independent of the underlying platform and are developed by vendors and standards bodies, such as the IETF.
Native models are developed by individual developers and designed to apply configurations on platforms.

OpenConfig models are developed by vendors and designed to integrate to features or configurations that are relevant only to that platform.

o0 ® >

Native models are developed by vendors and designed to integrate to features or configurations that are relevant only to that platform.

Correct Answer: D

Section:

Explanation:

Reference: https://www.cisco.com/c/en/us/products/collateral/switches/nexus-9000-seriesswitches/white- paper-c11-741518.html

QUESTION 11
Refer to the exhibit.

import regquests
impart sys

roquasts.package . urllib3 disable warnings ()}

HOST = *10.1.2.3"
FORT = 3443

USER = ‘usar’
FASS = ‘password’

daf main():
url = *https://{h):{p)l/resteconf/data/Cisco-T105-XE-native native/
hostname” . format (h=HOST, p=PORT)

headars = [‘'Content-Type’: ‘application/ [ I-.
‘Accept’ : "application/| ')
rasponsé = requests.get{url; auth= (USER; FASSE)
headers=headers, verify=False)
print(responsa. taxt)

Af nams == % maln *:
sys,.exit(main() )

An engineer creates a Python script using RESTCONF to display hostname information. The code must be completed so that it can be tested. Which string completes the highlighted areas in the
exhibit?

A. yang-datat+json
B. yang +json

C. yang.datatjson
D. json

Correct Answer: A
Section:

Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/166/b_166 programmability cg/restconf prog int.html

QUESTION 12
Which statement is true for Cisco IOS XE Software?

A. RESTCONF supports JSON and XML and NETCONF supports XML.
B. RESTCONF supports XML and NETCONF supports JSON and XML.
C. RESTCONF and NETCONF supports JSON and XML.

IT Certification Exams - Questions & Answers | Vdumps.com


https://www.cisco.com/c/en/us/products/collateral/switches/nexus-9000-seriesswitches/white
https://www.cisco.com/c/en/us/products/collateral/switches/nexus-9000-seriesswitches/white
https://www.cisco.com/c/en/us/products/collateral/switches/nexus-9000-seriesswitches/white
https://www.cisco.com/c/en/us/products/collateral/switches/nexus-9000-seriesswitches/white
https://www.cisco.com/c/en/us/products/collateral/switches/nexus-9000-seriesswitches/white
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/166/b_166_programmability_cg/restconf_prog_int.html
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/166/b_166_programmability_cg/restconf_prog_int.html
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/166/b_166_programmability_cg/restconf_prog_int.html
https://vdumps.com

D. RESTCONF supports XML and NETCONF supports JSON.

Correct Answer: A
Section:

Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/169/b 169 programmability cg/restconf programmable interface.html

QUESTION 13

Which curl command is used to update the SNMP community of network ID “1234567” to read-only?
ﬂ' curl <L -H ‘*¥-Cisco-Meraki-API-Key: <key>' 3\
-H ‘Content-Type: application/json’ \
-X PUT --data-binary *( \
“accass": "users”, \
“ocommunityString”: “readonly”}* \
‘https: /f/fapi . meraki . com/apl /v0/networks /1234567 /snmpSettings’

curl -L -H ‘X-Cisco-Meraki-API-Key: <key>' \
-H ‘Content-Type: application/json*® \
-X PUT --data-binary *{ \
“access”: "commanity*, \
“communi tyString®™: “readonly”}’ \
‘https: //apl .meraki . com/apl /v0/networks/ 1234567/ snmpSattings’

curl -L -H ‘E-Cisco-Meraki-API-Kay: <kay>" \
=H ‘Content-Type: application/json’ \
-X PUT --data-binary *{ \
“accaess":Yusars”, \
“usersname”: “somp”, \
“passphase”: "readonly”}* \
‘https://fapi .maraki . com/apl /v0/natworks /1234567 /snmpSattings’

curl -L -H ‘¥X-Clisco-Meraki-API-Key: <key>' \
=H ‘Contant-Type: application/fjson’ \
=X POST --data-binary *‘{ \
“access”: "community”™,
voommunityString”: *readonly®)’ \
‘thttps: //apl .morakl . com/apl /vl /networks /1234567 /snmpSattings’

Option A
Option B
Option C
Option D

o0 ® >

Correct Answer: B

Section:

Explanation:

:P

UT is used to update the snmp network ID. The access has to be community and not users.
Therefore, option B is correct.

QUESTION 14
Refer to the exhibit.
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modula: ietf-ip
augment. fif:interfaces/Sif:interface:
#==rw Lpudl

i +==rw anablad? boolaan
+--rw forwarding? boolean
e e 7 aintls
+==rW address* [ip]
| +ewruip inet: ipvd-address-no-zone

+-=pw  [subnat)

i +==r{prafix-length)
I

I

A e bk b

| #=-rw prefix-length? uintB
dw o ftask)
1 == natmask? yang ;dotted-guad  (ipvd-non-gontiguous-netmasks)?
+==r0 origin? ip-address-origin
=W naighbor* [ip]l
bW Ap inet:ipvd-addrass-no-zona
+==rw link=-laver-address yang:phys-addrass

Which NETCONF statement type is represented by +--rw address™ [ip]?

list
leaf-list

container

OO0 ®wp

submodule

Correct Answer: A
Section:
Explanation:

Symbols after data node names: "?" means an optional node, "!" means a presence container, and "*" denetes a list and leaf-list.

QUESTION 15
The automation engineer must replace device configuration using RESTCONF. How is this configured using the Python library Requests?

delete()

post()
put()
patch()

OO0 w® P

Correct Answer: C

Section:

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/166/b_166 programmability cg/restconf prog int.html

QUESTION 16
Which two Netmiko methods are used to configure a device? (Choose two.)

send_config()
send_control from_file()
send config set()

send command()

m o0 >

send config from file()

Correct Answer: C, E
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Section:
Explanation:
Reference: https://pynet.twb-tech.com/blog/automation/netmiko.html

QUESTION 17
Refer to the exhibit.
- name: Create VRFs as defined by local vrfs

ios vrf:
vrfs: “*{{ local vrfs }}”

state:l |

register: addvrf

An engineer creates an Ansible playbook to configure VRF information using a local vrfs variable.
The code must be completed so that it can be tested. Which string completes the code?

A. present
B. up
C. on
D

. active

Correct Answer: A
Section:

Explanation:
Reference: https://docs.ansible.com/ansible/latest/modules/ios_vrf module.html

QUESTION 18
Refer to the exhibit.

<rpc message-id="101" xmlns="urn:ietf:params:xml:ns:netconf:base:1.0">
<establish-subscription
xmlns="urn:ietf:params:xml:ns:yang:ietf-event-notifications”
xmlns:yp="urn:ietf:params:xml:ns:yang:ietf-yang-push®>
<stream>yp:yang-push</stream>
<yp:xpath-filter>/mdt-oper:mdt-oper-data/mdt-subscriptions</yp:xpath-filter>

<yp: >1000</yp: >
</establish-subscription>
</rpc>

Which XML tag completes this NETCONF telemetry subscription with a Cisco IOS XE device?

. crontab

A

B. cadence
C. frequency
D

. period
Correct Answer: D
Section:
Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/1610/b_1610_ programmability cg/model driven_telemetry.html

QUESTION 19
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Which two statements are benefits of YANG-push telemetry data over traditional data collection methods? (Choose two.)

The subscription requests use less bandwidth than SNMP polls.
It uses UDP rather than TCP.

You can precisely define data subscriptions.

It scales better than SNMP.

It is supported on more devices than SNMP.

m o 0w >

Correct Answer: A, C

Section:

Explanation:

Reference: https://tools.ietf.org/id/draft-song-ntf-01.html

QUESTION 20
Fill in the blank to complete the statement.

|is a solution for automating the configuration of a device when itis first
powered on, using DHCP and TFTP.

A. ZTP

Correct Answer: A

Section:

Explanation:

Reference: https://developer.cisco.com/docs/ios-xe/#!day-zero-provisioning-quick-start-guide

QUESTION 21
Which tag is required when establishing a YANG-push subscription with a Cisco I0S XE device?

<yp:period>
<yp:subscription-result>
<yp:subscription-id>

o0 ® >

<yp:xpath-filter>

Correct Answer: D

Section:

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/1612/b_1612 programmability cg/model driven_telemetry.html

QUESTION 22
Refer to the exhibits.
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from device info import fos xel

from noolisnt import mansger
import mmltedict

notoonf filter = open( ' filter-letf-interfaces.ml) .raad ()

A name coww . omain fo
with' manager. conneot (host=los xel [addrass®],
port=icsswal [port™];
ugarnane=los+xel ["usernane®]
password=lograel [“password]
hosthkey verlfy-False) as m:

Ty L{m!_'r‘plg - L In.nl.ncmq_'rllur:l

intf cdotails = xmltodict.parse (netconf raply.=sl) [Mrpe-reply”] {“data”]
intf config = intf details[*interfaces”]["interface”]
intf info = intf details[*intarfaces-state”] [*interface]

print{™=)
print{*InterLace Details:")

prARE(™ Namo: ()7 format{[ | {*name”]))

print{™ Description: {}".format (intf config[rdescription~]))

print (™ Typa: {(j*;format{intf config{"typa”] [“#raxt*]]}

print{* MAC Address: {}".format (intf info*phys-address~]1}})

print{™ Packet Input: (}". format(inkf info["statistics”] [Tin-unigast-pkis™ily
print{® Packebt Cutpat: {}".format(intf info[“statistics”] |“cut-unicast-pkts*])}

afilter>
<interfaces »mlns="urn:ietf:params;xml:ns:yang:ietf-intecfaces">
<interface>
<name>GlgabitEthernet2</nama’
</interfaces>
<finterfaces>
<interfaces-state xmlns="urn:ietf:params:xml:ns:yang:ietf-interfaces”>
<interface>
<name>GigabitBthernet?</nana>

umps
<finterfaces-state>

<ffilter>

An engineer creates a Python scripts using ncclient to display interface information. The code must be completed so that it can be tested. Which expression completes the highlighted section in the
format call?

intf info
intf_config
intf get

intf config[0]

OO0 wp

Correct Answer: B
Section:
Explanation:

The highlighted format cell for print is for the host.
Reference: https://github.com/CiscoDevNet/dnac-python-path-trace/blob/master/path_trace.py

QUESTION 23
Refer to the exhibit.
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from ncclient import manager
with manager.connect (
host=710.0.0.1",
port=12022,
username=’'cisco’ ,
password='cisco’,
hostkey verify=False,
allow agent=False,
look for keys=False,
device params={‘name’: ‘iosxe’},
) as m:

What is the correct ncclient method to use to collect the running configuration of a Cisco IOS XE device that uses NETCONF?

config=m.copy_config(source="running’)
config=m.get(source="running’)

config=m.collect config(source="running”)

OO0 >

config=m.get config(source="running’)

Correct Answer: D

Section:

Explanation:

Reference: https://ncclient.readthedocs.io/en/latest/

QUESTION 24
Fill in the blanks to complete this API request against the Cisco SD_WAN vManage Statistics API, which specified a deviceld of 260faff9-2d31-4312-cf96-143b46db0211, a local-color of biz-internet, and a remote- color of
gold.

https://lvmanage-ip-address:8443/dataservice/device/app-route/statistics? 260faff9-2d31-4312-
cf96-143b46db0211 biz-internet gold
A. deviceld=,

&local-color=,
&remote-color=

Correct Answer: A

Section:

Explanation:

&local-color=,

&remote-color=

Explanation:

Reference:

https://sdwandocs.cisco.com/Product Documentation/Command Reference/Command Reference/vManage REST APIs/Real-Time Monitoring APIs/Application-Aware Routing#Statistics

QUESTION 25
What does the command boot ipxe forever switch 1 perform when executed on a Cisco I0S XE device?
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It continuously sends DHCP requests for iPXE until the device boots with an image.
It continuously sends DNS requests for iPXE until the device restarts.
It continuously sends DNS requests for iPXE until the device boots with an image.

OO0 ® P

It continuously sends DHCP requests for iPXE until the device restarts.

Correct Answer: A

Section:

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst3850/software/release/16-5/ configuration_guide/prog/b 165 prog 3850 cg/ipxe.html

QUESTION 26
The Cisco DNA Center Sites API must be used to add a device to a site, but only the site name is available. Which API call must be used to retrieve the site identifier so that the device can be properly added to the network?

. /dna/intent/api/site/siteld

A

B. /dna/intent/api/site
C. /dna/intent/api/v1/site
D

. /dna/intent/api/v1/site/siteName

Correct Answer: C

Section:

Explanation:

Reference: https://community.cisco.com/tS/networking-blogs/welcome-to-the-dna-center-apisupport-community/ba-p/3663632

QUESTION 27
When a Grafana dashboard is built to receive network events from Cisco DNA Center, which integration bundle is enabled to'send notifications?

Basic ITSM CMDB Synchronization

DNA Center Rest API

Network Events for REST API Endpoint
Network Issue Monitor and Enrichment for ITSM

o0 ® >

Correct Answer: B

Section:

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/cloud-systems-management/networkautomation-and- management/dna-center/1-
3/admin_guide/b cisco dna center admin guide 1 3/b _dnac_admin guide 1 2 10 chapter 010.html

QUESTION 28
Which field must be completed in Cisco DNA Center when a network discovery is initiated?

. SNMP read community string

. NETCONF port

A
B. Enable password
C
D. Discovery type

Correct Answer: A
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Section:
Explanation:
Reference: https://www.cisco.com/c/dam/en_us/training-events/product-training/dnac-13/DNAC13_AddingDevicesByUsingDiscovery.pdf (p.26)

QUESTION 29
Webhook that are generated by Cisco DNA Center are REST calls with which properties?

JSON payload delivered via PUT
XML payload delivered via POST
JSON payload delivered via POST
XML payload delivered via PUT

OO0 ®wp

Correct Answer: C

Section:

Explanation:

Reference: https://developer.cisco.com/docs/dna-center/#!using-id-values-in-rest-requests

QUESTION 30
Which two API calls are used to trigger a device configuration sync in Cisco DNA Center? (Choose two.)

PUT /dna/intent/api/v1/network-device

PUT /dna/intent/api/v1/network-device/sync-all

PUT /dna/intent/api/v1/network-device/ {networkDeviceld}/sync
PUT /dna/intent/api/v1/network-device/sync

m o 0w >

POST /dna/intent/api/v1/network-device/ {networkDeviceld }/sync
Correct Answer: A, D
Section:

Explanation:
Reference: https://github.com/CiscoDevNet/DNAC-JAVA-SDK/tree/master/DnacAppApi

QUESTION 31
A network administrator must troubleshoot a network issue using Cisco DNA Center. Which API request helps to determine issue details, impacted hosts, or suggested actions for the resolution?

. /dna/intent/v1/issues

A

B. /dna/intent/api/v1/issues

C. /dna/intent/v1/issue-enrichment-details
D

. /dna/api/v1/client-health/issues
Correct Answer: C
Section:

Explanation:
The intent/api/v1/issues request determine issue details, hosts impacted and suggests actions for resolution.

QUESTION 32
Which two network assurance features are provided by the Cisco DNA Center API? (Choose two.)

A. site health
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license compliance health

client health

Cisco APIC appliance health

Cisco DNA Center appliance health

mo O

Correct Answer: A, C
Section:

Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/cloud-systems-management/networkautomation-and- management/dna-center/1-2/user_guide/b _dnac ug 1 2/b dnac ug 1 2 chapter 010011.html

QUESTION 33
In which direction does the Cisco DNA Center Intent API communicate?

westbound
eastbound
northbound

southbound

o0 ®p

Correct Answer: C
Section:
Explanation:

The Intent API is a Northbound REST API that exposes specific capabilities of the Cisco DNA Center platform. The Intent API provides policy-based abstraction of business intent, allowing focus on an outcome rather than
struggling with individual mechanisms steps. The RESTful Cisco DNA Center Intent API uses HTTPS,verbs (GET, POST, PUT, and DELETE) with JSON structures to discover and control the network.

Reference: https://developer.cisco.com/docs/dna-center/#!cisco-dna-center-platformoverview/intent-api- morthbound

QUESTION 34
Which two features are characteristics of software-defined networks when compared to traditional infrastructure? (Choose two.)

configured box-by-box
changed manually
use overlay networks

designed to change

m o 0w >

require software development experience to manage

Correct Answer: C,D

Section:

Explanation:

Reference:
https://www.cisco.com/c/en/us/td/docs/solutions/Enterprise/Data_Center/VMDC/SDN/SDN.html

QUESTION 35
Refer to the exhibit.
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1

2 ‘data*

3 |

4 {

5 ‘gount®: 4,

6 ‘detallsURL’: **,

T ‘nama’ @ ‘vEdge Hardware Health®,

B ‘status’: ‘earrcorc’,

G ‘statusLiast’ :

10 [

11 {

12 ‘count’ : 4,

13 ‘datallsURL' : *Sdataservice/device/hardwarehealth/detall?state=normal’ ,
14 ‘message’ ! ‘4 (normal=4, warning=0, error=0}*,
15 ‘name’ : ‘normal’ ,

16 ‘status’ : ‘up’

17 }

Cisco SD-WAN deployment must be troubleshooted using vManage APIs. A call to vEdge Hardware Health API returns the data in the exhibit (only a portion is shown). If this JSON is converted to a
Python dictionary and assigned to the variable “d”, how the status is accessed that is indicated on line 16?

d[data][O][statusList][0][status]
d[‘data’][‘statusList’][ ‘status’]
d{‘data’}[0]{ statusList’}[0]{ status’}
d[‘data’][0][ ‘statusList’][0][ ‘status’]

o0 wp

Correct Answer: D
Section:
Explanation:

The 0Os in option AC and D are not logical in this scenario. The status tag already takes care of the error message.

QUESTION 36
Information about a rebooted device needs to be displayed with an ID of 260faff9-2d31-4312-cf96- 143b46db0211 using the Cisco SD-WAN vManage Administration APIs. The API documentation states that deviceld is a
required request parameter. Fill in the blank to create the REST call.

https:/lvmanage-ip-address:8443/dataservice/device/action/reboot 260faff9-2d31-4312-cf96-143b46db0211

A. ?deviceld=

Correct Answer: A

Section:

Explanation:

Reference: https://sdwan-docs.cisco.com/Product Documentation/Command Reference/Command Reference/vManage REST APIs/Software Maintenance APIs/Reboot Device

QUESTION 37
What is the purpose of using the Cisco SD-WAN vManage Certificate Management API?

to generate a CSR
to allocate resources to the certificate server
to request a certificate from the certificate server

o 0N >

to enable vManage Center

Correct Answer: A
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Section:
Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/routers/sdwan/configuration/sdwan-xe-gsbook/cisco-sd- wan-overlay-network-bringup.html

QUESTION 38
What is a capability of Cisco SD-WAN vManage Certificate Management API?

deletes existing installed certificates
distributes the root certificate to client devices
generates SSL certificates

OO0 ®wp

creates certificate signing requests

Correct Answer: B
Section:

QUESTION 39
Refer to the exhibit.

- name: configure ntp
10 _ntp:
server: 10.1.1.20
logging: false
auth: false
NTP server 10.1.1.20 must be configured on the target Cisco IOS XE device without using authentication and logging. Which state should be added on a new line at the end of the Ansible task?

state: true
state: started
state: present

o 0N >

state: installed

Correct Answer: C
Section:

QUESTION 40
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hetpa://ioa-xne: 9443/ ceastcont/data/ietf-1nter facesinterfacen/

<interfaces xmlns® urn:ietf:params:xml:ns:yang: ietf-interfaces™>
<interface>
<pa=e>GigabitEthernetl</name>
<description>D0 BOT TOUCH ME</description®
<type xalna:ianmaift="urniietf:pacamsisml:ns:yang:iana-if-type“>ianaift:ethernetComacd</typer
<snabled>true</enabled>
<ipvid xmlns="urn:ietf:params:xml:na:yang:istf-ip >
<address>
<ip>10.10.10.10</ip>
<netmask>255,255, 255, i</ netnask>
</addreas>
<fipvi>
<ipw6 xmlns="urn:ietf:params:ml:ns:yang:iecf-ip”/>
</interface>
<interface>
<na=e>GigabitEthernet2</named>
<description>WAN Interface</descripticn®
<types xmlns:ianaift="urn:ietf:params:sml:ns:yang:lana-if-type”>ianaift:ethernetCazacdd/type>
<enabled>true</enabled>
<ipvd xmlns="urn:ietf:parama:xmlins:yang:ietf-ip”>
<address>
<ip»172.16.12.1</ip>
<nstmask>255.255.255.0¢/ natnank>
<faddress>
<fipvi>
<ipvé xcmlns=*urn:ietf:params:yoml:na:yang:iecf-ip”/>
<f/interface>
<fintarfaces>
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Refer to the exhibit. A RESTCONF GET request is sent to a Cisco IOS XE device. The base URL of the request and the response in XML format are shown in the exhibit. What are the two YANG data
nodes and modules referenced in the response? (Choose two.)

description is a key field defined in the interface list

The ethernetCsmacd type is imported from the iana-if-type module
address is a container defined in the ietf-interfaces module

ipv4 is a container defined in the ietf-ip module

m o 0w >

interface has the YANG data node type of container

Correct Answer: B, E
Section:

QUESTION 41
Which script binds a network to a template?

A
import requests
url = “https://api.meraki.com/api/v0/networks/" \
“{{networkId}}/split”
payload = {
“configTemplateId”: “N_23952905",
“autoBind”: True
}
headers = |
‘Accept’: /v,
‘Content-Type’: ‘application/json’
}
response = raqussts.redquest (“PO3T", url,
headers=hesadars,
data=payload)
print{respcnse.text.encode{‘uth'}}

import regquests
url = “https://api.meraki.com/api/v0/networks/"” \
“{{networkId}}/bind”
payload = |
“configTemplateId”: “N_23952905",
“auteBind"”: False
}
headers = |
‘Rocepth s /',
‘Content-Type’': ‘application/gjson’
}
response = regquests,request (“POST”, url,
headers=headers,
data=payload)
print (response.text.encode (‘utf8’))
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import regquests
url = “https://api.meraki.com/api/v0/networks/” \
“[{networkId}}/bind"”
payload = {
“configTemplateId”: “N_239529D5",
“autoBind”: False
}
he=aders = {
‘Decaptt: "
‘Content-Type’: ‘application/json’
}
response = raguests.rsquest(“PUTY, url,
headers=headers,
data=payload)
print (response.text.encode (‘utff’))

import requests
url = “https://api.meraki.com/api/v0/networks/” \
“{{networkId}}/=plit”
payload = {
“configTemplateId”: “N_239525%05",
“autoBind”: True

}

headers = |
‘Accept’: YWY,
‘Content-Type’: ‘application/json’
}
response = .requests.request (“FUTY, url,
headers=headers,
data=payload)
print (response.text.encode(‘utfd’))

Correct Answer: D
Section:

QUESTION 42

An engineer needs to create a new network using the Meraki API. Which HTTP action to the URL
https://api.meraki.com/api/v0/organizations/<new_org_id>/networks will result in a 201 response code?

GET
POST
PUT
ADD

o0 ® >

Correct Answer: B

Section:

Explanation:

Reference: https://httpstatuses.com/201

QUESTION 43
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What is a benefit of developing an application in a Python virtual environment?

The application operates in multiple target systems simultaneously.
The application supports concurrency or multithreading.

The application operates across systems that have different operating systems.

o0 ® >

The development environment is isolated from Python projects that already exist.

Correct Answer: D

Section:

Explanation:

Reference: https://hackernoon.com/concurrent-programming-in-python-is-not-what-you-think-itisb6439c3f3e6a

QUESTION 44
Which solution is used for automating the configuration of a device when it is first powered on, using DHCP and TFTP?

PnP
iPXE
SNMP
ZTP

o0 ®p>

Correct Answer: D

Section:
QUESTION 45
Refer to the exhibit.
FOST httpa://api.meraki.com/api/vd/organizationa/<org 1d>/networks
P'E':L'_'Eb';. "_'::i"': | "name™: “‘_'-'_-.F'.a‘:e"'. “::':_.-.qr.:,za';:'.:r.i_'l": <org ad>, “':'I:'p-_.": "I:l“!
Response code: 201
Response body: [ “id*: <network id», “name”: “Templace®,
"organization id": <org id», “cype”: “ ", “tage”: null }

A template is provided to a junior developer to automate the creation of a network on the Meraki dashboard. The new network needs to have the id 123456789 and support only wired network
connections. What type needs to be added to the API?

switch
wireless

appliance

o0 ® >

systemsManager

Correct Answer: C
Section:

QUESTION 46

DRAG DROP

Drag and drop the code from the bottom onto the box where the code is missing in the Ansible playbook to apply the configuration to an interface on a Cisco IOS XE device. Not all options are used.
Select and Place:
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= name: configure interface settings

lines:

- ip address 172.31.1.1 255.255.255.0
- no shutdown

: interface GigabitBEthernetl/0

io=zcnd parents
losconfig interface
iosxe ios config

Answer:

- name: configure interface settings
ios config

lines:

- ip address 172.31.1.1 255.255.255.0
- no shutdown

interface : interface GigakitEthernetl/0
ioscnd parents
losconfig
iosxe

Select and Place:

Correct Answer:

Section:
Explanation:

QUESTION 47
What is an advantage of software-defined networks as compared to traditional networks?

o0 w®

They simplify operations by creating a concrete copy of the network.
They reduce complexity by coupling the control and the data plane.

They enable older hardware to be repurposed without an investment in new infrastructure.

They deliver a distributed management architecture that provides better resilience to errors.
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Correct Answer: D
Section:
Explanation:

Reference: https://www.ibm.com/services/network/sdn-versus-traditional-networking

QUESTION 48
{ {
“version™ “1.0°, “category” “Distribution”,
‘response”: [ “totalCount™: 2,

“time”; “2019-07-15T19: 10:00.000+0000",
‘healthScore™ 73,

‘totalCount™; 11,

‘goodCount™ 8,

‘unmonCount™ 3,

fairCount™ 0,

‘badCount™ 0

‘entity™ null,

‘timeinhillis”; 1563217800000

}

]

"measuredBy” “global”,

“latestMeasuredByEntity™ null,

“latestHealthScore™ 73,

‘monitoredDevices™ 8,

‘monitoredHealthyDevices”: 8

‘monitoredUnHealthyDevices™ 0,

“unMonitoredDevices™ 3,

“healthDistnibution”: [

{

‘category”: "Access”
“totalCount™: 9,
‘healthScore® 100,
‘goodPercentage” 100,
‘badPercentage”: 0,
fairPercemage™ 0,
‘unmonPercentage”: 0,
‘goodCount™ 3,
*badCount™ 0,
fairCount™ 0,
‘unmonCount™ 0

}

]
}

}

“healthScore”: 100,
“goodPercentage”; 100,
‘badPercentage”™ 0,
“fairPercentage”: 0,
‘unmonPercentage™ 0,
“goodCount™ 2,
“badCount™ 0,
“fairCount™; 0,
“unmonCount™: 0

“category™ “WLC",
“totalCount™ 2
‘healthScore”: 50,
“goodPercentage”: 0,
‘badPercentage” 0,
‘fairPercentage”™: 0,
‘unmonPercentage™ 100,
“goodCount™: 1
"badCount™: 0,
*fairCount™ 0,
“unmonCount™ 1

Refer to the exhibit. Which device type is functioning in a degraded state?

access point
distribution switch

access switch

o0 ® >

wireless LAN controller

Correct Answer: D
Section:

QUESTION 49

What is a capability of MV Sense MQTT API?

OO0 >

request and subscribe to historical, current, or real-time data
automate the configuration of networking devices

monitor the network and auto adjust for optimal performance
create email alerts for user that violate the security configuration
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Correct Answer: A

Section:

Explanation:

Reference: https://developer.cisco.com/meraki/mv-sense/#!mv-sense-overview/introduction

QUESTION 50
Refer to the exhibit.

telemetry ietf subscription 154

encoding encode-tdl

filter xpath /memory-ios-xe-oper:memory-statistics/memory-statistiec
source-vrf Mgmt-intf

stream yang-push

update-policy periodic 6000

The configuration commands are entered in CLI config mode to configure a static telemetry subscription on a Cisco IOS XE device. The commands are accepted by the device, but the consumer
receives no telemetry dat a. Which change must be made to ensure that the consumer receives the telemetry data?

The IP address of the receiver must be set.
The stream type must be set to YANG.
The update policy period must be shortened.

OO0 ®wp

The sender IP address must be set.

Correct Answer: A

Section:

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/1610/b_1610 programmability cg/model  driven, telemetry.html

QUESTION 51
Refer to the exhibit.

POST w | {{osselid)idrafntent/aplfvl inemweork-device-poller/ci/raad raguect
Params Authorizatitn Heagens (10} Body @ Presagusst Senpt Tes1s

@ none @ formegats oo formeuniencoded @ raw 8 bingry @ Graph(l

-l
i
e

“commands™: [
Tconfigure termingl”,
"interface GigobitEthernet 17,
"ip oddress 192.168.1.0 255.255.255.0°
Ji
"description”: "Command runner EMAUTO Test 17,
“deviceluids™: [
"obfEaTRL-dobD-44ra-bTo9-e59104F15418"

i

o R, R

,-.-
-

i I

5t "name” : "ENAUTD Test 17,
1 "timebut”: T@"

R |

After executing the call, an engineer obtains the result of the Command Runner execution.
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The three commands show as blocklisted in the downloaded file. What is the cause of the error?

The API user in Cisco DNA does not have write privileges on the devices.

The engineer attempting to access the devices in Cisco DNA Center does not have privilege 15.
The format of the JSON body must follow the CLI format.

Command Runner supports only the show command and the read-only command.

OO0 >

Correct Answer: D

Section:

QUESTION 52

module: Cisco-I03-XKE-interfaces-oper

+--ra interfacea
+==ro interface*® [name]

+=-ro name string
+==rg interface-type? interfaces=-ics~xe~cper:ietf-intf~-type
+=-ro admin-status? interfaces-ios-xe-cper:intf-atate
+==rs oper=status’? interfaces=ics=xe=-gper:oper-state
+--ro last-change? yang:date-and-time
+—-pa if-indax? ing32
+-=-ro phys—addreas? yang:mac-address
+=-ro higher-layer-if+é string
+==rg lower=-layezr=-if* string
+==-ro ppeed? uintbd
+==ro statistics
| *=-—ro discontinuity-tims? yang:date-and-time
| #--zre in-octeta? uintbd
| +*+-=ro in-unicast—pkta? uinthd

Refer to the exhibit. What is a characteristic of the tree?

three optional metrics
two leaf-lists
ten leaf-lists

o0 >

three containers

Correct Answer: D
Section:

QUESTION 53
Refer to the exhibit.

importT Teguests

url = “"heeps://api.merak:.com/apifvl/necwerks/ENAUTC / devices/ zemove™
payload = """ | 8Orial™: "0l3d=....onnaswna™ T
headers =

"Content-Type": "application/json”,

"Accept": "application/jaon";

. s

: ’
"E=Cisco-Meraki-API-Key": "6bec40cfi5Tdeq30ablll012345678a4fac3eal”™

W

pzint (cesponae.text.encode ("uts ))

An engineer needs to remove the device with serialQ134 06776318 FROM THE NETWORK ‘ENAUTO by utilizing Meraki APIs. Which line of code must be added to the box where the code is
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missing to complete the python request?

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A
Section:

QUESTION 54

u ", T \\\\\%\\\\\\%\\\\\

s
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Refer to the exhibit. End users cannot connect to the circular network, and the signal strength is poor.
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A missing or unknown APN status message is present and the modern status remains in low-power mode. Which addresses the issue?

Use the device/celluiar/status vManage resource URI to ensure sufficient radio signal strength.
Use the systen/device/controllers vManage resource URI to set the platform temperature.
Use the device/app-route/statistics vManage resource URI to allow packets reachability to hosts.

o0 ® >

Use the device/tools'ping vManage resource URI to allow network device reachability.

Correct Answer: D
Section:

QUESTION 55
In the Cisco DNA Center Operational Tool API, which section of the intent API allows the retrieval of keywords that are accepted by the CLI and enables the execution of read-only commands on network devices to retrieve
their real- configuration?

Device Inventory
Command Runner

Network Assurance

oSN >

Device Discovery

Correct Answer: D
Section:

QUESTION 56
On which device is the Cisco SD-WAN manage certificate management API able to install certificates?

CSR 1000v
vFog router

load balancer

o0 ® >

vSmart

Correct Answer: C
Section:

QUESTION 57
When working with MV Sense APLS , upon which type of protocol is MQTT based?

publish-subscribe messaging
simple mail transport

heavyweight messaging

o0 ® >

computer vision

Correct Answer: A
Section:

QUESTION 58
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Refer to the exhibit. A Python script is used to configure a Cisco IOS XE router. The Loopback? interface currently has a description of Management and an IP address/netmask of 10.222.34.22/32.
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What is the result of executing the script?

o0 ® >

Correct Answer: A

Section:
QUESTION 59
= name: zeset lab
keszs: lab
gathez_Zfacts: ne
tasxs:

= name: Saskl
ios faces:
gather_ subsexz:
—_—

erface:
name: Loopbackl
atate: aboent

when: '"peod=1" in

- name: task3

The interface description remains the same.
The router rejects all commands, and the configuration remains the same.
The interface is removed from the configuration.

The interface description is removed from the configuration.

ansible _net_hostname’

ansible net hostname’

dumps
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Refer to the exhibit. The lab group consists of four Cisco IOS XE routers named pod-11,pod-12, and pod-22. What is the result of running the Ansible playbook to reset the lab?

The IPv4 and IPv6 addresses for the Loopback] interface are removed from pod-11 and pod-12.
The IPv4 and IPv6 addresses for the Loopback?2 interface are removed from all routers.

The Loopback] interface is removed from the pod-11 and pod-12 routers.

The changes will occur on pod-21 and pod-22 If the loopback?2 Interface is absent.

OO0 >

Correct Answer: C

Section:
QUESTION 60
Monitering - Alarms Details Jalarms/stats  Get alarm statistics

Implementation Notes
Get alarm stamstics.
Response Messages

HTTP Status Code Reason Recponse Mode
200 Success

400 Bad request

403 Forbidden

500 Internal Server Error

Request URI

https://sandbox-sdwan-1.cisco.com: 443 /dataservice/alarns /stats
Response Body
{
*Corrclotion Engine™: {
“"Added Events™: 10
).
“Link Update Correlator™: {
*Total Events™: 8,
“Added Events": &,
“Purged Alarms™: @,
*Threads™: {
“bfd-state-change™: (
"Current State™: "Starting thread”,
“Current Events Counter : @,
“Ticks*: 0,
“"Total Events Counter™: @,
“Total DB Counter™: &,
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e ——————————————————————
Ampors requesta, uxllibhil
imgpers json

==l1=b3.£:=;ﬁl:_u;::;ng:li
usl = ®hetsa://sandbex-sdwan-1l.ciaco..com”
headers = {"Content=Type": “arplication/x=wwew=Ioro=uriencoded™)}

credenciala ® ("7 usernaze™: "devnetuser®, "7 pasaword™: “RG! Ywdl§ E3%]
cookle _sesponse = requests.post (uzl = "':_;:cu:::vﬁ:ht:k'. headersa=headers,
dataSczedentiala, vezifiy=Palsel

Refer to the exhibit. An API request must display an alert message if change in OSPF neighbors is detected. Which code snippet must be added to complete the requests?

alarm stats = requests.post(url <
*/dataservice/alarms/scata"”,
cookies=cookie response.cookies,
verify=False)
1f alarm stats.status code == 200:
Af json.lcads (alarm stats.text)['Link Update
Correlater'] ['ospf-neighbor-state-change’)
["Total Eventa Counter"'] '= 0:
print ('OSPF neighboor change detected!’)

alarm stats = requests.post(url +
®*/dacaservice/alarms/stacs”,
cookies=cookie response.ccokies,

dumps
if alarm stats.status code == 200:

1f json.loads(alarm stats.text) ['Link Update
Correlazor'] ['ospf-neighbor-atate~change')
("Current State'] !'= 0:

print ('OSPF neighboor change detected!'')

alarm stats = reguests.post(url =
"/datasezvice/alarms/atats”,
cookies=coockie response.cookies,
verify=False)
if alarm stats.status code == 200:
Lf jscn.lcads(alazm stats.text)
["Correlation Engine']
['ospf-neighbor-state-change”)
[*Current 3State'] '= 0:
print ("CSPF neighboor change detected!')

alazm stats = requests.postuzl =
“/dataservice/alarms/stacs"”,
cookies=cookie reaponse.cookies,
verify=Falae)
Af alarm stats.status code == 200:
LAf json.loadsz(alacm stats.text) ["Correlation
Engine’ ) ["cspf-neighbor-state-change"’]
['Total Events Counter'] !'= 0O:
print ('CSPF neighboor change detected!')

A. Option A
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B. Option B
C. Option C
D. Option D

Correct Answer: A
Section:

QUESTION 61

L 1

l<rpc-reply message-id="urn:uuid:50471811-1911-403c-839d-2bbd5cfDbbeb™ xmlns="urn:ietf:parans:xnlins:netconf:base:1.0">
<data>»
<interfaces xalns="urn:ictf:paroms:xnl:ns:yang:ietf Anterfaces™s
<interface~
<nane>GigabitEthernet 1</ nanc>
«descript ion>MANAGEMENT INTERFACE - DON'T TOUCH ME</description>
<type xmlns:ianaifte"urn:ietf:parars:xnl:ns:yang: iana-if-type”s=lanaift:ethernctCsracd</types
<¢nabled>truc</enabled>
<ipvd4 xmins="urn:ietf:parans:xnl:ns:yang:ietf-ip">
<pddress>
<ip>10.10.20.48</ip>
<netmask>255, 255, 255.0</netnask>
=/address>
<fipvd>
<ipvb xalns="urn:ietf:params:xnl:ns:yang:letf-4ip"/>
<finterface»
<finterfaces>

e dumps
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Refer to the exhibit. If the data included in the code was saved to a python variable named “example”. Which line of code converts if for praising?
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A
B.
C
D

* py_dict = xmitodict.parse(example)
py_dict = csv.read(example)
py_dict = json.loads(example)

py_dict = yaml.load(example)

. Option A
Option B

. Option C

. Option D

Correct Answer: A
Section:

Q

UESTION 62

In which two use cases should a Python virtual environment be used? (choose two.)

m o0 ®w >

When developing multiple Python projects in the same environment that have the same Python package version requirements.

When developing multiple Python projects in the same environment that have conflicting Python package versions.

When developing the same Python application across multiple systems using the same application requirements.

When creating a new project with several development environments in a multi-project development system across the infrastructure.

When creating a new project that has a clean development environment in a multi-project development system.

Correct Answer: B, D
Section:

QUESTION 63
What is a benefit software-defined networks when compared to traditional network?

0N >

They improve information capture from the network by enabling model-driven telemetry, whereas traditional networks use SNMP for capturing logs from devices.
They facilitate network management by replacing network services that run on dedicated hardware, whereas traditional networks use networking platforms to run and enforce policies.
They simplify operations by providing policy enforcement across physical and virtual environments, whereas traditional network configuration occurs on the physical infrastructure.

They reduce costs by enabling network functions to run on commodity servers, whereas traditional network functions run on physical servers.

Correct Answer: B
Section:

QUESTION 64
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e

. =odule iaterfaces |

sypedef dotzed-gquad
1 tyne sTring |

. paztess
£ *U([0=8])[L=2][0=5] 11[0=9][0=8) |2[0=4] [0=2]12510=5]0%2){3}"
L = YL0=91 1 [1=-9)[0=-2]1250-2] [0=9] 12[0=4] [€=9] 125]0=5])"2
: }
H daacsip=ien
id MFour cctets written as decimal numbers and
£3 aspazatad with zhe '.' (full stop) chazactez.";
-4 coatalines incazfacap |
1f i3t inzerface
. Key "name"™;
1 leaf name |
- type atzing’
=andazory “true”;
i SescDlptiicn
is "inzecsfsce name.;
- - ?
2 tanf adds {
<3 =285 ACIATERE |
<4 type dotted=quad;
ci mandazery “trie";
i - dascription
27 “Intesface IF address.™;

]
leaf pubses-—ank |
type doztedmguad;
is mandazozy "true™;
13 dessraipticn
Ly “iatezface pubset mask."™;

gefais "falae®™;

3z descrapricn
¥ "Ensble oz disable the intesface."™:

Refer to the exhibit. What is a valid XML instances of this YANG module?

v olfe s obs dai
—
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o0 ® >

<data »mlna=urn:ietf:pazams:xml:ns:netconf:base:1.0">
<interfaces x=lns="htep://example.con/interfaces”>
<interface>
<name>GigobitBthecnet 0/0/0</nase>
<address>10.10.10.1</addresa>
<subaect-=aask>255.255.255.0<¢/subnet-aa3k>
<finterface>
<interface>
<name>GigablitEtheznet 0/0/1</name>
<address>192.168.1.1</addzean>
<subnet-mask>255.255.255.0</subnet~nask>
</interface>
</interfaces></data>

<data xmlna="urn:ietf:parama:xml:ns:netconf:base:1.0">
<interfaces xmlns="http://example.com/interfaces™>

<interface>
<name>GigabitBtheznet 0/0/0</na=e>
<address>10.10.10.1</addreas>
<enabledstrue</enabled>

</intezface>

<interface>
<name>GigabitEtheznet 0/0/1</name>
<addcsess>192.1€68.1.1</addzess>
<aubnet-=ask>2%5.255.255.0<¢/subnet~-nask>
<enabled>zrue</enabled>

</interface></interfacea></data>

<data xmins="urn:iecf:params:xml:ns:necconf:base:1.0">
<interfaces xmlns="http://example.com/intecfaces™>
<interface>
<name>GigabitEtheznet 0/0/0</name>
caddresss 2001l:db8::2:1</addresn>
<subnet-=a8k>255.255.255.0</subnet-nank>
</interface>
<interface>
<name>GigebitEtheznet 0/0/1</name>
<address> 2001:dbB::2:1</addzess>
<aubnet-mask>»255.255.255.0<¢/subnet-nanks>
<finterface>
</interfacea></data>

<data xmlna="urn:iecf:paramp:xml:ns:netconf:base:l.0">
<interfaces xmlns="http://example.con/intecfaces” >
<interface>
<address>10.10.10.1</addresa>
<subnet-=ask>255.255.255.0</subnec-nask>
</finterface>
<interfaces>
<address>192.16B.1.1</addresa>
<subnet-=ask>255.255.255.0</subnet-nask>
</interface>
</interfacea>
</data>

Option A
Option B
Option C
Option D

dumps
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Correct Answer: A
Section:

QUESTION 65
When API request are implement for Cisco DNA Centre, which two response are returned in the JSON response when HTTP GET call is made to obtain site health? (choose two)

clientHealthWired
clientHealthAverage
total ApplicationCount
routerGoodCount

mo 0o w>

overallBadDevices

Correct Answer: A, D
Section:

QUESTION 66

DRAG DROP
Drag and drop the commands to the Ansible playbook that applies configuration to an interface on a Cisco IOS XE device. Not all options are used.

Select and Place:

Answer Area
- name: configure interface settings
ioscmd interface
lines:
t ;

e G -ip address 172.31.1.1 255.255.255.0

iosconfig ios config -no shutdown
— interface GigabitEthernetl/0

Correct Answer:

Answer Area
- name: configure interface settings
iosemd interface ] ios=cc~nf ig:
rp— lines:
-ip ‘address 172.31.1.1 255.255.255.0
iosconfig f| -no shutdown
parents |: interface GigabitEthernetl/0

Section:

Explanation:

QUESTION 67

DRAG DROP

Drag and drop the characteristic from the left onto the monitoring type described on the right.
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Select and Place:

o R i
S e
e

e e R i
e e e S e
S S

i i o S S S
e I I e I
N N
S S S S e S S
e o e
'\. i S S T S T S S e
R o o o o i

Correct Answer:

Section:

Explanation:

Reference:
https://www.cisco.com/c/en/us/td/docs/iosxr/ncs5500/telemetry/70x/b-telemetry-cg-ncs5500-70x/b-telemetry-cg-ncs5500-70x_chapter 010.html

QUESTION 68

DRAG DROP

A Cisco DNA Center script must be written to retrieve a list of interfaces on a switch. Drag and drop the API calls that are needed to return the list of interfaces using the Command Running APIs from the left into the correct
sequence on the right.

Select and Place:
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Correct Answer:

’ 3
—
| PP efArea
I E D
L i e

i -
1IUS
ECrray

—thulll

Section:
Explanation:

Reference: https://developer.cisco.com/docs/dna-center/#!using-id-values-in-rest-requests

QUESTION 69
DRAG DROP
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GET: https://dnacsrv/api/vl/necwork-device
{
"responsa": |
i
"type": "Cisco Catalyst 9300 switch",
"errorCode™: null,
"family™: "Switches and Hubs",
"location™: DCL,
*rola™: “"ACCESS™,
"machddress: "al:2b:30:40:41:50",
"hostnama™: “cat 9k 1™,
"serialNumber™: "FCWZ213eL0OAR™,
"softwareVersion™: "16.6.1",
"locationName"™: null,
upTime™: "13 days, 18:30:33.81",
"softwareTypa": "IOS-XE",
"collectionStatus": “"Managed®,
"managementIpAddreas™: "10.10.22.86",
"mlatformId®: YC2300-24UX",
"reazchabilityStatus™: "Reachable",
"series": "Cisco Catalyst 9300 Series Switches"™,;
"snmpContact™: ",
"shmplocation™: wnv,

Refer to the exhibit. A GET request is issued to the Cisco DNA Center REST API. Drag and drop the GET request URL subpaths from the left onto the objectives on the right. Not all options are used.

Select and Place:

.Answer Area du m ps

/api/vl/network-device?softwareType= List devices that are configured by using SNMP
10S-XE&softwareVersion=16.4.2 to be in the DC2 location

/api/vl/network-device? (softwareType=

T0S-XE) AND (softwareVersion=16.4.2) List the device that has an IP address of

10.222.10.35
/api/v1/network-device?family=switches Display Cisco IOS XE devices that have [0S
and Hubs [ version 16.4.2

/api/vl/network-device?iphAddress=
10.222.10.35

/api/vl/network-device?snmpLocation=DC2

/api/vl/network-device?managementIp
Address=10.222.10.35 '

/api/vl/network-device?family=cat 9k 1

Correct Answer:
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Section:
Explanation:
Reference:

https://meraki.cisco.com/lib/pdf/meraki_whitepaper captive portal.pdf

QUESTION 70
DRAG DROP

“dumps

Drag and drop the steps from the left into the order on the right to create an end-to-end flow for Meraki Splash Screen using EXCAP.

Select and Place:

Answer Area

Correct Answer:

stop 1
plus ™’
I.:-——-LUI 1]

step 3
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Answer Area

The client device is associated and redirected to
the splash server k - ;i;. 14

The Meraki cloud services invoke the AAA
service to validate user credentials

Client sign-on is required ‘

The AAA service authenticates the user and
passes the appropriate web service

Section:
Explanation:

QUESTION 71
DRAG DROP

S pyang -f tree ietf-interfaces.yang
module: ietf-interfaces

+--rw interfaces

| +-—rw interface* [nams]

| +==rW name string

| +-—rw de=scription? string

| +==rw type identityref

| +=-—rw enabled? boslean

| 4+--ro statistics

| +==-ro discontinuity-time yang:date-and-time
| +--ro in-unicast-pkta? yang:counterad

| +==-ro in-broadcast-pkta? yang:countergd

x—ro interfaces-state
x—-ro interface®* [nams]

X==rs RAmMES string

x-—ro type identityref

#x==ro admin-status enumeration {if-mib}?

X-—ro oper-status anumeration

x--ro statistics
x=-=-ro discontinuity-time yang:date-and-time
X--ro in-octets? yang:countergd
x==rg in=unicast=pkta? yvang:countergd

Refer to the exhibit. Drag and drop the code from the bottom onto the box where the code is missing to complete the ncclient request that captures the operational data of the interfaces of a Cisco 10S
XE device. Options may be used once, more than once, or not at all.

Select and Place:
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from neclient imporIt manager
import xml.dom.minidom

USERHAME = ‘cisco’
FASSWORD = ‘ciaco’
HOST = '10.10.20.1817

data = r¢
< xnlns="pra:iecf:params:xml :na:yang:iectf-interfacea">
< >
<atatistics»</scaciscics>
<f >
<f >

WP F

with manager.connect (hosc=HOST, password=PASSWORD, porc=830, username=USERNAME,
hostkey wverify=False, device parama=(‘name’:‘io=sxe’}) as m:

c = m.get (filter=(" *y data)).data_ xml

xml = xml.dom.minidom.parseStringic)
xml pretty str = xml.toprectyxml()
print (xml pretty str)

interfaces-scace interface-acace interfaces

xpath subtres intarfacs

Correct Answer:
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from neclient imporIt manager
import xml.dom.minidom

USERHAME = ‘cisco’
FASSWORD = ‘ciaco’
HOST = '10.10.20.1817

data = **”
< |interface-stace xnlns="pra:iecf:params:xml :na:yang:ietf-interfacea">
< |xpath >
<atatistics>»</staciscics>
</ |interfaces . >
</|interface-scace >

LR

with manager.connect (hosc=HOST, password=PASSWORD, porc=830, username=USERNAME,

c = m.get (filter=(" P *y data)).data xml

xml = xml.dom.minidom.parseStringi(c)
xml pretty str = xml.toprectyxml()
print(xml_pretty str)

hostkey wverify=False, device parama=(‘name’:‘iosxe’}) as m:

interfaces-scace interface-acace interfaces

xpath subtres intarfacs

Section:
Explanation:

QUESTION 72

DRAG DROP
Drag and drop the characteristics from the left onto the network types on the right.

Select and Place:
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Answer Area

— Software-defined network
Correct Answer:
Answer Area
Traditional network
-, A
——etduMmps

Software-defined network

Section:

Explanation:

QUESTION 73

DRAG DROP

Drag and drop the code from the bottom onto the box where the code is missing to complete this API request against the Cisco SD-WAN vManage Statistics API, which specifies a device with an Id of 100faff9-8b36-4312-
bf97-
743b26bd0211, a local color of biz-internet, and a remote color of gold. Not all options are used.

Select and Place:
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|

l 100£faf£9-8b36-4312-bE£97-T43b26bd0211

|

l bBiz-internet

https://vmanage-ip-address:8443/dataservice/device/app-route/statisticsa?

gold

Iiluﬂal-culur“ | |i=alo:"

I |i:1ua:e-=nlar”

device™

|dﬂvicu1d"'

Correct Answer:

https://vmanage-ip-addresa:8443/dataservice/device/app-route/statistica?
fcolor” 100£a££9-8b36-4312-b£97-743b26bd0211
devica” biz-internet|&local-color” |gold
| ] |i:1ﬂa:e-cnlar”
|dﬂvicu!d"' |
Section:
Explanation:
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